P5 Negative Numbers

Choose your level and complete the work. You can use working
out if you like, but you should be able to solve the problems in
your head.

MNumbers to the right of O

(zero) are positive
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Mumbers to the left of O
(zero) are negative

1.2-3= 9.4-16 = 17.-29 + 51 =
2.1 -4= 10.5-13 = 18.-41 + 35 =
3.4-5= 11.4-12 = 19.-32 +72 =
4.3 -6= 12.-1-13 = 20.-56 + 48 =
5.2-7= 13.-4-21 = 21.-62 +76 =
6.1 -4= 14.-2-12 = 22.-65 + 81 =
7.3—-4= 15.3-25= 23. 304 - 563 =
8.1-2= 16. -4 + 32 = 24. 556 + 435 =




